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Question Answer Marks AO Guidance 
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M1 1.1a Attempt to multiply numerator and denominator by ( )3 n−   

May be implied by fully correct answer 
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Correct expansion for either numerator or denominator 

Final answer fully correct 

    [3]   

 

2 (a)  100! 100 99 98!

98! 98!

 
=  

M1 1.1a oe 

   =9900 A1 1.1b cao 

    [2]   

2 (b)   100 98C 4950=  B1 1.2 Allow for 984950x seen 

    [1]   

 

3 (a)  2 6 6 2v t t= − + − =  M1 1.1a Use 𝑣 = 2 to form and attempt 

to solve a quadratic equation 

May be implied by both correct 

roots 

   2, 4t =  s A1 1.1b Both values required   

    [2]    

3 (b)  6 m s–1 B1 1.1b cao 

    [1]   

 

  




